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Union

If A and B are sets, the union C of A and B, written C = AU B, is
the set of elements of either A or B or both. 1
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AUB = {x:xc AdDx € B}.

{1,2,3}U{3,5,6} = {1,2,3,5,6} = AVS
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Intersection

If A and B are sets, the intersection C of A and B, written
C = AN B, is the set of elements in both A and B.

N
ANB={x:x€&€Aand x € B}.
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Difference

If A and B are sets, the difference C of A and B, written
C = A — B, is the set of elements in A but not in B.

A—B={x:x € Aand x & B}.

{1,2,3} — {3,5,6} = {1,2} =.A-B
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R-A = {X-’ xe B3 bot X&A}S
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Example
A=1{0,1} and B = {1,2}. What is (A x B) N (B x B)?
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Example

Let X =[1,3] x [1,3] and Y = [2,4] x [2,4] in R?. Sketch the sets
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